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%’ M %% VYMHOXKEHUE NECATUYHBIX 3HAKOB Ha CTEIEHDb NECATU

WUms: Jata: ___ Ouenka:___
4, 084 x 1000000 = 5,725 x 1000000 =
1,353 x 1000000 = 2,185 x 10 =
2,59 x 100000 = 10,823 x 10 =
5,046 x 1000 = 8,523 x 1000000 =
1,303 x 10 = 2,241 x 100 =
6,716 x 1000 = 4,964 x 1000 =
5,756 x 10 = 8,3 x 1000000 =
6, 841 x 1000000 = 2,216 x 100 =
9,411 x 10000 = 7,595 x 100 =
3,119 x 10 = 7,662 x 1000000 =
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%g %% VYMHOXEHHe JCCATHYHBIX 3HAKOB Ha CTCIICHD ACCATU

Pws: Jata: ____ Ouemka:
4, 084 x 1000000 = 4084000 5,725 x 1000000 = 5725000
1,353 x 1000000 = 1353000 2,185 x 10 =21.85
2,59 x 100000 = 259000 10, 823 x 10 = 108.23
5,046 x 1000 = 5046 8,523 x 1000000 = 8523000
1,303 x 10 =13.03 2,241 x 100 = 224.1
6,716 x 1000 = 6716 4,964 x 1000 = 4964
5,756 x 10 = 57.56 8,3 x 1000000 = 8300000
6, 841 x 1000000 = 6841000 2,216 x 100 = 221.6
9,411 x 10000 = 94110 7,595 x 100 = 759.5
3,119 x10=31.19 7,662 x 1000000 = 7662000
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